
Multiply and Divide by 10⁻³ (C)Find each product or quotient.
27 ÷ 10⁻³ = 61 ÷ 10⁻³ =
50 ÷ 10⁻³ = 2 × 10⁻³ =
16 ÷ 10⁻³ = 48 ÷ 10⁻³ =
66 × 10⁻³ = 79 ÷ 10⁻³ =
78 × 10⁻³ = 26 ÷ 10⁻³ =
30 × 10⁻³ = 11 × 10⁻³ =
25 × 10⁻³ = 60 × 10⁻³ =
60 × 10⁻³ = 67 ÷ 10⁻³ =
56 ÷ 10⁻³ = 8 ÷ 10⁻³ =
9 ÷ 10⁻³ = 80 × 10⁻³ =
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Multiply and Divide by 10⁻³ (C) AnswersFind each product or quotient.
27 ÷ 10⁻³ = 27,000 61 ÷ 10⁻³ = 61,000
50 ÷ 10⁻³ = 50,000 2 × 10⁻³ = 0.002
16 ÷ 10⁻³ = 16,000 48 ÷ 10⁻³ = 48,000
66 × 10⁻³ = 0.066 79 ÷ 10⁻³ = 79,000
78 × 10⁻³ = 0.078 26 ÷ 10⁻³ = 26,000
30 × 10⁻³ = 0.03 11 × 10⁻³ = 0.011
25 × 10⁻³ = 0.025 60 × 10⁻³ = 0.06
60 × 10⁻³ = 0.06 67 ÷ 10⁻³ = 67,000
56 ÷ 10⁻³ = 56,000 8 ÷ 10⁻³ = 8,000
9 ÷ 10⁻³ = 9,000 80 × 10⁻³ = 0.08
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